J AC XSC-ECO-(OPT.)-8C ECO

BScience/Commerce

Total No. of Pages - 36

q%ﬁ # T deEm 36
IREUE Hftrfae aieg
ANNUAL INTERMEDIATE EXAMINATION - 2025

ECONOMICS
( Optional )

Total Time : 3 Hours 15 minute Full Marks : 80
AT 39 |5 fye quits : 80

General Instructions / e fAdw

1. This Question Booklet has two Parts — Part-A afifliP:

b

Part-A is of MCQ Type b .

&
[

The candidate has to answer in the Answer Booklet which will be

provided Eepérat_f:ly.
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Part.A There are 30 Multiple Choice Questions having four (4)
PPlions (A, B, C & D ). The candidate has to write the correct option
N the Answer Booklet. All questions are compulsory. Each question

carnies 1 mark. There is no negative marking for wrong answer.

mn-A--—-S'Hfi30WW§M4W(A.B,CHWDJ§I
qﬁan%ﬁaﬁm-gﬁamﬁuﬁmi%{@m%lmﬁmyﬁmf%lmm

1mm%iwm%%qa$r§mmaﬁml

Part-B — There are three sections : Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short

Answer & Long Answer Type questions. Total number of questions

1s 22.

Section-A — Question Nos. 31-38 are Very Short Answer Type.

Answer any 6 questions. Each question carries

2 marks.

Section-B — Question Nos. 39-46 are Short Answer Type. Answer
any 6 questions. Each question carries 3 marks,

Answer the questions in maximum 150 words each.
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Question Nog. 47-52 arc Long Answer Type. Answer

ANy 4 questions. Each question carries 8 marks.

Answer the questions in maximum 250 words each

‘m'B__mmﬁmmhw—a,aamcﬁlsnmﬁyﬁaq

22 21

TUE-A — WA 31-38 3 7y sy ¥ el 6 wv & I 3
T T 2 3% F 2

OB — W Hen 39.46 @y www ¥l fod 6 sl ¥ I 3
TIE T 3 3% F R TEF WE IR
150 wisgt & €)

GUS-C — U HEN 47-52 9 Ity #| feedl 4 w9 % 3w 3 @

Y 5 37 I 81 TF T FT IR AfFaq 250 wee) § 3

Candidates are required to answer in their own words as far as

practicable.

Tieqreff FuTaYe 3794 weel ¥ & IW 2
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Candidate has to hand over his/her Answer Booklet tq the

Invigilator compulsorily before leaving the examlination haj
afemefl ufien v prgd & v wud) IW-gfEaE A5E F Hfr=Td w0 3
M

8. Candidates can take away the Question Booklet after completion o

the Examination.

TN quH A3 % It qhanell yea-giErR A9 @1y AH S HHR &
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( Multiple Choice Type Questions )
( wgfreeda gva )

stion Nos. i
Question Nos. 1 to 30 are Multiple Choice Type. Each question has four

ions. Sele :
option ct the correct option and write it in the Answer Sheet. Each

question carries 1 mark. 1 x 30 = 30

5 FE 1 8 30 7% Fgfishedia yR #1 yee g $ 9N Rwed &1 w@ Ree
Wﬁmﬁ%@fﬁﬁmlmﬁﬂﬁl 1 x 30 = 30

@ When the opportunity cost of producing goods in an economy is

constant then what will be the shape of Production Possibility

Curve (PPC) ?

—— St =

MA straight line (B) Concave to the origin

(C) Convex to the origin (D) Inverted ‘S’ shaped

[ m12/9559 5/ 36
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fa yeferaren o v 9 & IEA 1 HTHL AT ﬁiﬂ A mq_%

45 (PPC) &1 sishid 31 g 2

M@W}@L (B) HeAfer=g &l 3 3rEqe
(C) Hetfamg & 3 I (D) 3¢ 'S HTHW I

@ Which of the following statements is related to positive economics ?

-(ﬁ( Unemployment allowances should be given to unemployed by

Govt.
L T—

@ The quantity of demand of a supplied good increases with

Increase in its price

@ In order to stop inflation bank rate should be increased

(D)  All of these
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private people or institution ?

y Capitalist economy

(B)

(C)

(D)

Mixed economy

Centrally planned economy

Market economy

B 12/9559
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(B)

(C)

(D)

fafsa sreksgaeen

hAIHd QTG srelegar

T Helegawen

Which of the following curves is negatively sloped ?
Supply curve

(C)

Total utility curve

M Budget line

(D)

Total cost curve

H 12/9559
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(D) % & 56

Which :
@ iIch of the followmg goods can have elastic demand ?

(A)  Soap (B) Cloth

(C)  Food items (Y Luxury car

Frfefan 4 @ fow o 1 min ofrwer @ Ted 2 2
(A) @ (B) ug]

v —

(C) g s Bl FR
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6. Thereis ... .. in demand for a good due to an Increage |
price
(A)  expansion (B} increase

M decrease (D)  contraction

(F (D)

@ The demand for a good used for many purposes is

M perfectly elastic (B) inelastic

—

(C) elastic (D)  all of these

o 12/9559
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(C)  o"en |
(D) %9 & ooft
@ The slope of isoquant is
(A)  positive B)  zero

(C)  infinity \y negative

qHIedTE {1 Y BTl et @
L SRR
(A)  UATH® (B) A
(C) 34 Mmﬂm
m 12/9559
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@ Which of the following 1s (hot anpxample of a variable cost ?

E}V Cost of raw material -

y Rent for building
g

(C)  Per unit electricity bill

v

(D)  Commission
ﬁm%ﬁaaﬁﬁqﬁa?ﬁmm@mﬁq_mqgg?
w/ﬁnmﬁwm

(B} %[ F fHma

tc/ufawrém?vﬁﬁa

f[)V FHHIA
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Capital SR ( ) 1 ™

Capital 21
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Which type of Ge N
return g scale’ is obtained by this function ?
(A) Constant retl:lrn L0 scal
Scale
(B Diminishing return to scale
(C) Incrcasing réturn to scale
(D) None of thege
frefetied 3/mea wem g feram hifyo
HiY4
TS A | IS ST
4
= | D = | @

QF
T
-t

O

)

=

GD

¥ %7 311 68 TR &1 M w1 fies’ o @ @ R o

(b T w1 R wfrwe

(C)

UgE & g4HE TAEd

(B)

(D)
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Average product and Marginal produc

when
5y
(B)
(C)

(D)

(D)

4

"’
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Average product is maximum

Average product increases

Marginal product is maximum

Marginal product is zero

B 12/9559
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The equilibryyym |
@ '__________‘__rilnndlilnn of a firm in perlect competitive market 18
“‘-__-‘"l-

——,

(A} AR = AC
(B) AR = MR

C) MR =acp
( (D) MR = MC

T S S 0 5 3 g 8 2
W AR=AC (B} AR =MR
) MR=ac (D) MR = MC

13. If the quantity supplied is increased by 8% due to an increase of

L

Sliﬂ_,_!.f_ice, then what will be the value of price elastici_g_)_/ of

supply ?
=
(A} 5 BV 16
(C) 8 (D) 063

H12/9559 15/ 36
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(A} S (B) 16

(C) 8 (D) 063

Due to increase in supply of a good in a market, the price of the

g00

Mecreases (B) increases
(C)  remains unchanged (D) either increase or decrease
o e A o 753 & aeg A A i
(47" it Beft 2 B) &2

(C) 1 itads 7 & (D) =t @ gfg B w2
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—-""_'1—__.___ ?
Price )Y thc cqunhhrlum price
.-—_—_-_—_—___‘-_‘-_'-'
Demand 7 8 9
__—ﬁ'_\
20 | 15 | 10
Suppl_\-
34 36 38
(A) 4
(B)
¥ 5
< (D) 30
frafafaa
HHa | —-11_2 3 .9
L 2 3 4 5:; 6 . 3 5
7 — .
ki 22 | 24 | 26 | 28 lsojq sa | a6 | as
(A) 4 (B)
72 D) 30

) . - . i LI -
What is the meaning of ‘MACRO’ in macroeconomics ?

(A ]_al rge

Parallel

(C)

(B)

(D)

Small

W 12/9559
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Aufe sifere o wufe’ oz &1 @ oad 22
T T_—:y:—

LMET (B) B

(C) ETaE (D) T4 7/ ;i

17. In the situation oﬁﬂation /

‘U(-;'-\ prices of goods decrease
— —

’\y/ prices of goods increase

(C) value of money increases

(D) production decreases

M 12/9559
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(D) IR 3 e g 3

What is t 1 '
he rémuneration O@aputal called ?_

(o Profit B Wage
gi(;} Rent ( Interest
gl & gty ) = gl T § ?

B T B wd

(€) \y’/m

W 12/9559

ECO

Sclence/Commerce

19 / 36



[ JAG c Science/ Commmn
l XSC ECO-(OPT.)-S Merey

o
@ Who is the author of the book The Weal_th of Nation' ¢

W Adam Smith (B) J. M. Keynes

(C) J.B. Say (D) Manmohan Singh
] AT {TH WA AE (e F @d A B ?
ﬁ/ TeH (B) . UH. %=

(€) .43 (D)  wAHTEA fig

20. What is National Income ?

<

(A) Gross Domestic Product at Factor Cost

(B) Net National Product at Market Price

ﬂ Net National Product at Factor Cost

(D)  All of these

|_®12/9559 20 /




X8C-ECO-(0PT.).8C zco

Science /Commeroe
TYE A TR o

(A) mmmmmmm
(B) TSR W I W veare
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(D) ¥ & |ft

21.  Which of the following is an activity of primary sector ?

( f}/ To produce wheat »

(B) To prepare wheat flour
(C) To sell flour in the market

(D) None of these

o 12/9559 21 / 36
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(A ™ 3gemn

(B) M A e &R FE

(C) ¥R = S & Il

(D) 379 & =+ 48

- - - . - 1] ?
Which is included in inventories *
— ——— _______._..-——-—-'-_'

(A)  Unsold finished goods —

(B) Raw materials

(C) Semi-finished goods —

M All of these

| ®m12/9559
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23. What is the difference between GNP and NNP called ?

— e —

% Depreciation

(B)  Undistributed profit

(C) Net factor income from abroad

(D) Net indirect tax

m 12/9559 23/ 36
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GNP a1 NNP %1 3t e 2 2
B¥ qeu v

(B)  arfeafa emy

(C) T ¥ v yg wnvm >

(D)  Yg 3ty ¢

24,

Which of the following banks does not accept deposits from 1h,

public ?

-—-""_-_—-__'

(A)  Jharkhand Rajya Gramin Bank #

(B) Bank of India «

(C)  State Bank of India 7

MBank of India

W 12/9559
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(C) R &% A% e yhﬁhmsﬁm

which bank issues currency in India ?

(A)

(C)

——

Central Bank of India (B)  State Bank of India

Bank of India

_—

(D) Reserve Bank of India

v # 7z Pt @1 w5 a-an & w2

(A)

(C)

(B)

(&

| 12/9559
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- vestment and change
26.  What is called the ratio of change Il nv

___.__._...---!
— e ——

income called ?

J—

; C
(A)  Marginal Propensity to consume (MPC)

M Multiplier

(C) Average Propensity to Consume (APC)

(D)  All of these

ﬁ%mﬁqﬂaﬁqaﬂtmﬁqﬂaﬁ?wa@wmﬁ?

(A) 399 i dwiq w9 (MPC) yw

(C) Im # shwa wgf (APC) (D) ¥ @ @

27.

If Marginal Propensity to Consume (MPC) in an economy i

i

then what will be the value of Marginal Propensity to Save (MPS) ?

(A) 06 \)ﬂ,/ 04

(C) 25

(D) 1-7

| W 12/9559 |
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afé 6 Stleraeen § mngm £ g it (MPC) 06 8 A wor )
9 (MPS) 1 73 711 £y -

(A) 06 (B) 04

(C) 25 D) 17

Which of the following is an example of capital receipt of

government ?

(A) Direct Tax (B) Fine

'(C)  Debt ) (D) Duty

ﬁm%ﬁaﬁﬁiwmﬁ%ﬁmmﬁaﬂwmﬁ?-m%?

(A) TIE B~ (B)  Juim -
=
© *dy (D) W

B 12/9559 27 / 36




JAC

29,

X8C-ECO-(OPT.)-8C

What is balanced budget ?

(A} Receipt » Expenditure

(B}  Expenditure > Receipt

(C)  Receipt < Expenditure

(D)  Receipt = Expenditure

Fi’?,’ﬁﬁ S FNR?

(A)  wifEEl > =1y (B) 4T > wifead
(C) wiiwal < =3 (D) Wit = =

® 12/9559
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If th '
¢ volume of import and export of & country in a year are

respectively Rs. 250 crore and Rs. 300 erore, what is the trade

——— E——
balance ? |
—

(A) Rs. 200 crore (B) Rs. 300 crore

t’?l'%' S0 crore (D) Rs.-950 crore
=

Th 9% § T ¥ sheel S F R F G 250 FHUg ¥ F1 A T

3oom;sqﬁwﬁah@%|mﬁ§mw%?

(A) 200 Hg T4 (B) 300 Flg 79

/Somﬁsm (D) - 50 Hg TG
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( Subjective Type Questions )

( Freafrs v )

Section - A
@ug - A

( Very short answer type questions )
( aifd vy Iefa wea )

Answer any six questions. 2x6=]2

frdl ©: ye1 & I 3]

31. '
What is called market economy ? Give an example

AT e Tk a1 e @ 2 uw e g

30 e
2. Why is indifference curve convex to the origin ?

STHIA 9 It fag A 3R 39 w4 2 @ o

® 12/9559
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36.

What is marginal cost ? If the cost of producing 10 units of a good

is Rs. 60, and that of 11 units is Rs, 75, then what will be its

marginal cost ?

ﬁuﬁwmam??ﬁ%mmﬁlowrémﬁwmmm

11 378 3amea ) &d 75 92 R A 3qeh Hiia ofnrg a4 gt ?

What will happen if there is equal increment in demand and supply

of a good in the market ?

1 B T IR § fee awg 6 min @ qf § o awm gfe @ 2
What do you mean by household sector ?

QTR &9 | 319 I GHHd @ ?

If the cash reserve ratio is 25%, then calculate the value of money

multiplier.

afe Jhe ymferd 3IE 25% & 9 qH U H qE 71d i)

® 12/9559 31/ 36
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37. What are capital receipts of a govern

A& A sfira wiferaf #n /A & 2

omy ?
38 What do vou mean by open economy

Gefl weforaren & w9 #a1 guwd & ?

Section - B

qve - B

( Short answer type questions )

( 1Y I w9 )

Ts‘ci;;;;%g%\
e

Answer any six questions. Answer the questions in maximum

150 words each.

3x6=18

%ﬁs:wﬁ%mammwmmﬁm 150 wrsci | 2

39,

T AT F T @R S 7w vl e,

| ®m12/9559 ]

Write the main itemns of capital account of balance of payments.
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41.

42,

43.

Science/Commercs
What are revenye reccipts ? To what extent are these different from

capital receipts ?

v wifwat & & 2 qr o fina wifat & fea gwn i A E 2
What is ‘open market operation’ ? With the help of this policy how
does central bank control credit ?

W AT s w2 2 H A wm A @ fea wer g | R

Al B ?

What is national income ? List any four items not included in

national income accounting.

TET 3 1 3 2 T 3 o § e 981 a9 9 fRdl 9w we
&1 geftag Hifym

Explain with suitable diagram, due to fall in demand for a good in
market the price of that good falls.

Tt 8 o7E i o6 wTem | feet g i Ain ved @ 39 g Y Hira

U2 A 2l

® 12/9559
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g elasticity of Supply,

. easurin
44. Explain the geometric method of m

off 9 e B 7 R s R 1 o

i ith marginal prody
45. Define average product. How is it related with g ct 9

\ ) TR AR | 7 g et @ FRd ST HEfE R 5
. : | .
46. Explain total outlay method of measuring price €lasticity of

demand.

ﬁﬁﬁaﬁamﬁﬁwm%ﬁlﬁwdi'mq'
Section - C

gug - C

( Long answer type questions )

( & I9fa oy )

Answer any four questions. Answer the questions in maximum

250 words each. Ox 4 =20

faﬁﬁaﬂwﬂ‘f%wammwwﬁw 250 w3l § &

47. Explain the factors affecting elasticity of demand.

nﬁﬁaﬁaﬁﬂuﬁamﬁmﬁwﬁm|
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49,

Sl.
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. , ion
What iy Production function ? When does a production functio
show incrcaaing returns to scale ? Illustrate with an example.

I BT W R 2 o g wow w 4R % adE fAee B wefhia

FT R ? I § w i

' iti Wni
Explain the characteristics of perfect competition market. te

down the conditions of equilibrium of a firm in perfect competition.

wmmﬁﬁﬁwﬁﬁmmlﬂwﬁa‘rﬁmﬁ@qﬁ
%ﬁgaqﬁwﬁﬁ%rﬁqm

“GDP cannot be the measurement of welfare of a country.” Do you

agree with this statement ? Give reasons in support your answer.

“Wh#mw%wqﬁém%r’wmmm%

HENA 2 P 39 R ¥ v A 9% A
How do commercial banks create credit ? Explain.

Wﬂﬁmﬁzﬁmwwﬁmmm%?wﬁﬁm

@ 12/9559
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52,
What effect will the following changes have on the Cquilibﬁum
of
the economy ? Explain with a diagram.

a) Decline in marginal propensity to consume

} ' '
) Increase in autonomous consumption.

mﬂ:ﬁ@ﬂ%ﬁgﬂqmﬁmﬁﬁmqﬁaﬁaﬁrwm@ﬂ?%@ﬁag

e Hife)
a)  vwim ) i v d

b @ I | Fhal

| W 12/9559

36 /



